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SA UAEX D
Ma: 0l #F BHO| £
el el X3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2etgaEs =ol )| 1l
880,000 *7CH 6,160
JIEZASEATRC Ul A& 42,974 44,083 1,109
= 42,974
201 er23| 42,974 44,083 A1,109
= 42,974
01 At 22|l 42,974 44,083 A1,109
O JIE2H gRF8 23HI(8Y)
42,974,000 x14] 42,974
= 42,974
S8H0 EXEE 22 2,235,259 1,823,613 411,646
= 622,870
== 14,240
o 1,598,149
FolEe| XMy A8 1,648,442 1,089,347 559,095
= 522,268
= 9,240
o 1,116,934
ANHSE 2 =8 diltael 82,677 79,236 3,441
201 fer= 3| 30,577 29,136 1,441
01 At 2t 30,577 29,136 1,441
O E88dl 225 78
950,000 22 1,900
O S2EHl Z2 02 (AutoCAD) AFER
500,000 *44] 2,000
O S8l 2258 728
750,000 *25 1,500
O XNE=8II=8 fs2el|
11,0003 %1,107& 12,177
O dat=H ZAES 2@F L
13,000,000 » 14 13,000
207 ARl 30,100 30,100
02 MAHHEH] 30,100 30,100
O NHEE2A BFE
7,000 4, 3000H 30,100
405 KHaHE SH 22,000 20,000 2,000
01 AL ESF=H 22,000 20,000 2,000
O X=ESg2el AAE Al W
22,000,000 * 14| 22,000
AIHIZ KIH 2 e 2t 30,800 0 30,800
= 9,240
Ea 21,560
201 er2 3| 30,800 0 30,800
= 9,240
o 21,560




SA UAEX D
M 280 EXNEE 22
el FUEo XHME P (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 30,800 0 30,800
O 20234 MIAHSXIH AEHE =&
30,800,000& » 14 30,800
= 9,240
Ea 21,560
KETHZEAALH =& 1,012,697 358,556 654,141
201 et 3| 43,693 55,343 A11,650
01 AtR2tc|Hl 32,733 44,383 A11,650
O NEUZAINEY EE2EE 7Y
5,000& *2,000& 10,000
O NEMEAt2Z AT &8 M
500,000 *7 K 3,500
O NEMEAL AHZ2E ] BH+E
70,0002 x5 +63] 2,100
O XNEMEAIRE 2 A+
70,0003 x4 H 62 1,680
O XHEMEAL ot A2F 2
743,003 15 743
O KNEMZEAL A E8 225 7
220,000 *43] 880
O EHFEHl T2 (AutoCAD) AHE=
540,000 *34] 1,620
O XEMZEA JI1EE L8]
33,0008 %3708 12,210
2 55234l 10,960 10,960 0
BN EAANEY 2EE 252
2,740 +4,0005 10,960
301 22N = 969,004 293,213 675,791
14 JIEt2 = 969,004 293,213 675,791
O '21¢8 ol gEil+ NEMZAL 283 Al
= 614,513,460 x14] 614,514
O '21d ot BT AHMEAL 283 Al
= 144,044,100 *14] 144,045
O 218 8dt =SXF XNEMEAL 283 A
= 47,419,185& *14] 47,420
O '21@ gt 2FXF NEMEAL 283 A
= 163,024,540 * 14| 163,025
KIHTHEAAIE =R (EX) 522,268 633,555 A111,287
= 522,268
201 =3 44,745 633,555 /588,810
= 44,745
01 AtR2t2|HI 38,745 623,555 584,810
O KIETHEZAALS AbSHI 38,745
KHEEAL JI1EE 2=H|
19,876,000 * 14| 19,876
= 19,876




SN QIRIER D
HM: SN0 EXNNEL e
o2 F0IHEo| XY RS (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- NIMTHEAL 2B} 242
13,000,000 *14! 13,000
= 13,000
- NETHEAL E2H 5,369,000 2 * 14! 5,369
2 5,369
- NIMTHEAL AIRES 2|
500, 0002 *14! 500
= 500
02 2Z2AY| 6,000 10,000 ~4,000
O XETHEAIAIS RSBE a2
6,000,0002!* 14! 6,000
= 6,000
308 XX|SHAISOI & 477 523 0 477 523
2 477,523
11 I ZSOICHEH 2 AR QI EFAFAH 477,523 0 477 523
O KIETUEAF =2t
477,523,00021%14] 477,523
2 477,523
SR 330,353 501,782 ATT1,429
=2 100,602
2 229,751
e ZAIXIDF ZAH 275,538 264,320 11,278
2 100,602
2 174,9%
101 Q124 83,000 89,250 16,250
2 46,280
2 36,720
03 BRI (2| H )22 AHEL 83,000 89,250 16,250
O WETAIXIIE ZAF Q1248
83,000,0002 *14! 83,000
= 46,280
z 36,720
201 Lpre | 182,833 175,070 7,763
=2 54,322
2 128,511
01 AR zielt| 182,833 175,070 7,763
O HWEZAIXIE FAF 2 Mo AQE g
5,000,0002 14! 5,000
O HEBAIRDL B2 &40t Q28 HIX
90,0002 %177 A 43| 6,120
O SEMIIAZARIYE Y
70,0002 10 +25] 1,400
O WEZAIXD} HES4E 170,313
- MEXDL AEE42
43,60021308, 5002 X|*1.25% 168, 133
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A HREX D
Hu: 58Nl EXFE 22
el fsdrael EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O AASKIA S| *ER3
2,500 +2,00024 5,000
O FSUSEXRXYE B AEAAE D&t
L 7ANEx 1,860,000 *14 1,860
C2E & ASHS R0 2L 196,728 177,094 19,634
< 5,000
[ias 191,728
CRHEFA FO0AY 2t 139,728 38,120 101,608
201 L2 65,680 38,120 27,560
01 AtR2telb] 65,200 37,640 27,560
O FAZ2AR & 4G
70,0003 x8ZH +43] 2,240
O XNZE2As g4 =&
70,0003 x4 H #22] 560
O F=AJBEANEE S| 21,200
-AdStse 7,000 *1000H =128 8,400
- J=PSE 80,000 150K 12,000
- FABBALES SX0 B2 £2F 7Y
30,0002~ 122 360
- ASHUST HX| TN BALLE Y
220,000& =22 440
O E2E=4 24| 5,000&*2,000H 10,000
O &M= X2 dAstisdt 7Y
100,000 *30H 3,000
O s ALY
9,400&+3,000H 28,200
02 3224l 480 480 0
O ADIE KAIS AFEZ 40,000 * 123 480
403 MR HSTH=01A 74,048 74,048
02 S712S0 e H=H 2 E AL 74,048 74,048
O 2UFEAFBAIAE SXE% 74,048
- XML KAIS 5 € =X2t
38,186,000 *14] 38,186
- YUREA PE U FAFBIIZE A
el 35,862,000 *14] 35,862
FAHEANEE X € RS 57,000 0 57,000
= 5,000
= 52,000
401 AlIEHIZL 2 OHYI 57,000 0 57,000
S 5,000
ia 52,000
01 AlZHI 57,000 0 57,000
O =AEBANE RANE= 57,000
- 288 RUEs 260,000 +200H 52,000




SA UAEX D
Hu: 5N EXFE 22
ol E2Y H HAEHS R0 2L EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—coel BotE AlAZ A
3,000,000 *14] 3,000
= 3,000
-T2 2AEER AEE SRzl
2,000,000 %14 2,000
= 2,000
SHE 22 59,736 55,390 4,346
SUHEE Sghatel =8 59,736 55,390 4,346
201 er23 | 59,736 55,390 4,346
2 352484l 59,736 53,190 6,546
O XNotAE=dE SE2cIANAE FXNE2+ 41,725
- ot=RIN 210,362, 7402 8% 16,830
- AZE0 174,417 5002 *12% 20,931
- SO U SHRATES)Of
330,330 * 122 3,964
O BAWRBLAAY RA 24
8,980,000& *15CH*13% 17,511
O Sty ee= 500,000+ 1CH 500
HY2HHHI(LUREX D) 62,980 84,337 N21,357
Jl23HI(YEX D) 62,980 84,337 A21,357
Jl2ZHI(Y2EX D) 23,920 36,760 A11,840
201 er23 | 19,000 30,000 211,000
01 At2teltl 19,000 30,000 211,000
O RN2HI(S5N) 19,000,000 19,000
203 2=l 4,920 5,760 N840
04 EASYLRETY| 4,920 5,760 840
O RNSYALEFYI(FRPY)
410,000& 123 4,920
JlE2ZHI(Leel ) 9,984 13,652 A3,668
201 =3 6,144 9,332 23,188
01 At22telt] 6,144 9,332 A3,188
O YoIgE eess S|
6,144,000& 6,144
202 04t 3,840 4,320 A480
01 =LHOHI 3,840 4,320 A480
O JlE =0l 3,840,000 3,840
JlEZel(X=E) 7,236 8,784 1,548
201 fer=3| 3,45 5,184 A1,728
01 AtR2t2|HI 3,456 5,184 A1,728
O XHE 2N S
3,456,000 3,456
202 04l 3,780 3,600 180
01 2LHoIH 3,780 3,600 180
O 212 = 3,780,000& 3,780




2A:

RIREX 0t

M HAPAZH|(VUAERD)

Sl J|2dHI(UAEXID) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JlEZdtl(fssae8) 7,920 9,461 A1,541

201 er23 | 5,280 6,221 A941
01 At2teltl 5,280 6,221 A9
O BEaBRlE Y2ET e
5,280,000& 5,280
202 04| 2,640 3,240 A600
01 2L AL 2,640 3,240 A600
O Jl2 =WHobl 2,640,000 2,640
JlE2ZBI(XETHEAE) 9,120 11,136 22,016
201 2= 4,320 6,336 22,016
01 At2t2lt] 4,320 6,336 22,016
O NNWEAME 2227 28|
4,320,000 4,320
202 04l 4,800 4,800
01 =LHOHI 4,800 4,800
O JlE =0l 4,800,000& 4,800
I23H(FSLUHSEXXIYTF) 4,800 5,544 AT44
201 fet=3| 2,400 2,304 9%
01 At 22|l 2,400 2,304 %
O PEMSHIXHUF ALET 22|
2,400,000 2,400
202 04l 2,400 3,240 AB40
01 2LHoIH 2,400 3,240 AB40
O 212 = 2,400,000 2,400
g.2 HIYS2IZHI(UAEXY) 32,200 28,840 3,360
.9 J|23H(YAEX1) 32,200 28,840 3,360
.9 J|I28HI(YAEX D) 32,200 28,840 3,360
201 2= 32,200 28,840 3,360
01 AtR2t2lt] 32,200 28,840 3,360
O Sggadl, U8l s 228 72 2 R
NEa AQE 29
100,000& x 142 K= 123 16,800
O FEIDI(MEI], AHH &) 7 & RAl
b 500,000 * 142 Al 7,000
O PIYIQR X1 AIREE 2
300,000& * 145 Al 4,200
O FUSES Hee 2d A5 2
300,000& 142 A 4,200




